LB-75-2 01/02/2008

BaumMmanue

C 2007 rona Beinmyckaetcs y3en Hacoca LB75-2. Otnuuue ot y3na LB75 3akntouaercs B hopme
KapTepa.

Buemnui Buj

V3en Hacoca LB75 (crapsrif) V3en Hacoca LB75-2 (HOBBIIA)

OT1/n4yusl B KOHCTPYKIUH

Ne | HaumeHnoBaHue Kona (LB-75) Kon (LB-75-2)
1. 3aaHAS KpbillKa 21112001 21112003
2. Mpoknagka 3agHe KpbiLKu 21155002 21155001
3. Macnoykasatenb 21164002 21164004
4. Kaptep 21111013 21111021
5. CTtonopHoe konbuo 30 21146003 11121009
6. Llanba 52 21213003 11121012




LB-75-2 01/02/2008
LB-75-2
Macca (HeTTO) Net Weight 50 Kg
Buemnue Pazmepbi Outside Dimensions 360*270*300 | mm*mm*mm

11 123 01—

=

"L\

s « —""/-
21125014 21 125 014
21125 015——___ ~
11 123 001
',,..f""-f-
11 123 001 — 21125015




LB-75-2 01/02/2008
¥Y3ea Hacoca LB-75
MpumeHs- Mosnuns B
Kopn HaumeHoBaHne
eMoCTb AeTanupoBke
4023430020 |Bnok nopwHeson LB-75-2

21175003 |®unbTp BO3QyLWHbIV B cbope 3 1

11114001 |lanka ®19 3/4 5 2

21123004 |lonoBka unnuHgpa 3 3

11123003 |I'paBepHas wanba 8 18 4

11131006 |Bont kpbiwku 6noka unnuHgpos M8x80 12 5

21173002 | YronbHUK 1 6

21154003 |lMpoknagka 6noka knanaHoB BepxHaa ®80 3 7

21124004 |KnanaHHas nnvta B cbope P80 3 8

21151005 |lMpoknagka 6noka knanaHoB HMxHAA ©80 3 9

21121005 |Uwunungp $80 3 10
11111003 |lavika ®10 12 11
11123004 |I'paBepHas wanba ®10 12 12
21153003 |Mpoknagka unnuHgp — kaptep $80 3 13
11141003 |Wnunbka M10*38 12 14
21145004 |KomnnekT nopwHeBbix konew $80 3 15
21141004 |MNopweHb $80 3 16
21144003 |Kombuo cTonopHoe Ans nansua noplHesoro ®15 6 17
21143004 |MNaney nopwHeson ®15*70 3 18
21132007 |UWaTyH 6okoBomn 2 19
21132008 |UaTyH ueHTpanbHbIN 1 20
11131001 |BonT KpenneHus kpblwkn M6x20 4 21
11123002 |[paBepHas wanba P6 4 22
21112001 | 3agHsas Kpbilwka 1 23
21155002 |lNpoknagka 3agHew KpblLUKK 1 24
21134002 MopwmnnHnk 6304 1 25
21171004 |PagmnaTop 2 26
21174004 | TpOWHUK 2 27
21164002 |MacnoykasaTtenb 1 28
21169003 |[lMpobka cnvBa Macna 1 29
21167002 |Mpobka 3anvBa macna 1 30
21111013 |KapTtep 1 31
21146004 | CtonopHoe KonbLo konexHsana ®30 1 32
21146003 | CtonopHoe konbuo P30 1 33
21131007 |KoneHBan 1 34
21136001 |CermeHTHas LUNOHKA 1 35
21134006 MopwmnnHmnk 6307 1 36
21152005 |[lMpoknagka nepegHen KpblIWKW NoALINMHMKA 1 37
21113005 |[[lMepeaHsas Kpbllika 1 38
11131004 |bonT KpenneHus nepeaHen Kpblwkn M8x25 6 39
21212004 |UWkvs LB50/75 368 1 40
21213003 |UWan6a 952 1 41
11124002 | Wawnba $10 1 42
11131011 |Bont wkuea M10x45 1 43
21161005 |MaHxeTa nepegHew kpbiwkn $35*56*12 1 44
21166001 |CanyH 1 45
21125015 |llnacmuHa 6onbwas (LB75-LB50) 3 8/1
21125014 |[MnacmuHbl masn. 8 Komrnaekme (2+2+6onmei u walbei) 3 8/2
21177010 |[TampoH 8030yuwiHo20 hunbmpa 3 1/1
21112003 |3agHss kpblwka (LB75-2) 1 23
21155001 |lNpoknagka 3agHen Kpbiwwkn (LB75-2) 1 24
21164004 |Macnoykasatens (LB75-2) 1 28
21111021 |Kaptep (LB75-2) 1 31
11121009 | CronopHoe konbuo P30 (LB75-2) 1 33
11121012 | Wawnba $52 (LB75-2) 1 41




LB-75-2 01/02/2008

¥Y3ea nacoca LB-75-2
3amuacTi uMeroIue otanyua or LB-75

21112003 |3agHss kpbiwka (LB75-2) 1 23
21155001 |lMpoknagka 3agHewn kpbiwku (LB75-2) 1 24
21164004 |Macnoykasatenb (LB75-2) 1 28
21111021 |Kaptep (LB75-2) 1 31
11121009 |CronopHoe konbuo $30 (LB75-2) 1 33
11131004 |Bbont KpenneHnsa nepegHen Kpbiwkn M8x25 6 39
11121012 |Wanba 52 (LB75-2) 1 41




